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18.

19.

20.

The opposite of ‘up’ is Ans.
What is the opposite of ‘pet’ ? Ans.
‘Mare’ is the feminine gender of Ans.
Write the masculine gender of ‘wife’ Ans.
The past form of the verb ‘smile’ is Ans.
What is the past form of ‘grow’ Ans.
Fill in the blanks.

There is a magic that you teach me

To be good and and
Ans.

Fill in the blank with appropriate preposition.

The man found his son alone in his garden looking down the hill

the poor farmers.

Ans.

Fill in the blank. If the jackal would try to catch the rooster, the rooster

Ans.

fly away to the tree.

If we want to write 121 in words correctly we should write:

Ans.
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